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QUESTION 1

Name two modes of BranchCache. (Choose two.)
A. Hosted

B. Distributed

C. intercluster

D. Vserver-aware

Correct Answer: AB

https://library.netapp.com/ecmdocs/ECMP1196993/html/GUID-22EA47D8-0E5E-4BE3892FCF189C9C3A9D. html

QUESTION 2

Which Data ONTAP Cluster-Mode clone technology will lock a Snapshot copy?
A. LUN Clone

B. Snapshot Clone

C. Volume Clone

D. Aggr Clone

Correct Answer: A

https://library.netapp.com/ecmdocs/ECMP1196995/html/GUID-AE6D55F2-DD8F-4D34- 8374B0B5587DB60C. html

QUESTION 3

Which two solutions are valid for clustered Data ONTAP MetroCluster? (Choose two.)
A. FAS3200 series controllers

B. FAS2500 series controller

C. four nodes at each site

D. two nodes at each site

Correct Answer: AD

QUESTION 4

From the output of the command "network interface show", the logical interface that has a value of "false" under the "Is
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Home" column signifies it (choose all that apply)
A. Is disconnected

B. Has failed over

C. Is administratively disabled

D. Has been migrated

E. Is currently being migrated to home node

Correct Answer: BD

QUESTION 5

Which three storage features can be scaled by storage administrators? (Choose three.)

A. capacity scaling, by allowing more than two storage systems to be combined with larger disk shelves
B. energy scaling, by allowing the cluster to share the same power source

C. heterogeneous scaling, by allowing E-Series and FAS-Series systems within a single cluster

D. network scaling, by providing three or more network switches for the cluster network

E. operational scaling, by allowing the entire cluster to be administrated through a single resilient interface
F. performance scaling, by using Flash Cache, SSDs, and Quality of Service

Correct Answer: AEF
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